TH6FE8AEAD REKR

BRE BAEFBEEHRIEERERE

B & A& #® & E B BmE KR
DEZAITRL(AYE) frE M RIBE 0157 b= %
2IR—XRAFLYI Y GRER) fEHmMEXEE 0157 =
SYPRAOY L fmE Mt XZE 0157 (E
Sty O] frE M KIBE 0157 = %
18 5L (900g) frE M RIBE 0157 b= %
AN fREHmMEXEE 0157 =
RIAITRL(FIYR) frE HMEKIBE 0157 b= %
BMFEIFD fREHmMEXEE 0157 =
RAHT(ER) frE M KIBE 0157 = %
A () (BiR fREHmMEXEE 0157 =
BA&Z (BR frE HMEKIBE 0157 = %
#X fmE Mt XZE 0157 k= %
MRVAF—(Avh) frE HMEKIBE 0157 = %
RESITHIT (Hvh) fmE Mt XIZE 0157 k= %
MENILLEIL frE M KIBE 0157 = %
mAEXa—Y fmE Mt XZE 0157 k= %
ARSIE (HIR) (40g) REHmMEXEE 0157 (E
ARSIE (HIR) (50g) fmE Mt XZE 0157 fz %
ARE(E (BE) (40g) REHmMEXEE 0157 =
mEShL (HIE) (30g) fmE Mt XZE 0157 fz %
BEFFUININ—Y (60g) frE M KIBE 0157 = %
AEFEUR—IL(LINA—AY) fAE Mt XIZE 0157 k%




TH6FE8AEAD REKR

BRE BAEFBEEHRIEERERE

B & A& % & E H BmE KR
AER—aY (hyhk) frE M RIBE 0157 b= %
MRLERE fEHmMEXEE 0157 =
Pl 0 fREHMERBEE 0157 (=3
AEBEMNGIT fREHmMEXZE 0157 =
BEER(KDE-5ghvyh) fFEtmEXBE 0157 (E
HEBAN(EDE-8ghvh) frE M XBE 0157 = %
MRBAN(RDE-33H-10ghvh) frE M KIBE 0157 = %
MEBRA(KDE-LH-15ghvh) fREHmMEXEE 0157 =
MEPEE frE M KIBE 0157 = %
MEERE fREHmMEXEE 0157 =
HREE (Fe) frE M KIBE 0157 = %
MEEE(X) fmE Mt XIZE 0157 k= %
MRBRREDD frE M KIBE 0157 = %
MEBRA($3)3mm3 X 3cm fmE Mt XIZE 0157 k= %
ARBEREBD (EM1 X 3cm) frE HMEKIBE 0157 = %
AEBKEDE REA) fmE Mt XZE 0157 k= %




